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NOTES: Section 5.6 - Find Rational Zeros

Goals: #1 -1 can find the possible rational zeros of a polynomial. W S
#2 - 1 can find all the real zeros of a polynomial.

Homework: Lesson 5.6 Worksheet

Warm Up:
1. Divide: (6x —x¥—x?+11x - 18) + (2x* +x — 3)
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2. One zero of f(x) = x3—x% - 17x 15 is x = —1. What are the other two zeros of the
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Example #1: List the possible rational zeros of f using the rational zero theroem.
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Example #2: Find all real zeros of f(x) =x* —8x° +11x
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You practice: Find all real zeros of f(x) =x — 4x* —15x + 18
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Example #2: Find all real zeros of f(x) = 3x* — 6x” 32x +35¢—-12 L2- A L—
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You practice: Find all real zeros of f(x) 3_5'263 +5x% —11x —_%;
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